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title page of the answer-book.

o U A B foh 39 TA-IF | Hled I8 11 § 91 2 Y8 AT % 3 |

o THUF H gIfed g1 Al 3 fu MU Hig TR B HH IWYEH & @IS W
fad |

o FUA AR fh W IHTTH 22T F |

o HUA U9 1 I ToTEA1 & A Uget, U9 T shilieh ravd ford |

e TH YHUA HI UG  fo1C 15 fire 1 Tm fean mn g | weA-uw o TR gty
T 10.15 & foham ST@ | 10.15 S § 10.30 &S o DTH hddd JIH-UT bl Tl
3R 38 AfY & GHF d IW-YIEIhT T HIg IR g faE |

e Please check that this question paper contains 11 printed pages and
2 pages of maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e (JgTf=re)

GEOGRAPHY (Theory)

REgiRa a7 : 3 o2 STferHaTH 3% : 70

Time allowed : 3 hours Maximum Marks : 70
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General Instructions :

(i)
(it)
(iii)

(iv)

(v)

(vi)

(vii)

(viii)
64/2/2

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short -answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Out of which one question is a value based question. Answer to each
of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long -answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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1. ‘emyfom foufie’ | = stfim @ 2 1

What is meant by ‘Age-Sex pyramid’ ?

2.  3Idieh JTAATT hl GHRIar fopE TehR 480 <hl =S 3R s W At e

8 ? 1
How does the navigability of inland waterways depend on the width and
depth of the channel ?
3. VIR ¥l I8 ITUN HI 3 &I (FFH) H aiehd hIoT | LA
2 2

Classify the Indian cotton textile industry into two sectors.

4. 3N SH-cX fopm YR ah <kl ATt @ 2 1

How is the crude birth-rate expressed ?

5. T4 U 1 YR B ? 1

What is meant by tourism ?

6. TorH YR & STAafdeh &1 H T <hl HBHA IS Sl § 2 1

In what type of climatic areas is sugarcane cultivated ?

7. gar® o= & o TR i 68 TR el 31997 AT §9 8 YTfad Hdl

27 1

How does migration affect the status of women directly or indirectly ?
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8.  “OYreMTE, Uk HHT % IT=ATd &I Ul hl ST Fehdl &, S UATSROT <hl BT 7 hidl
&, o sfumgy RN gdemeit ¥ g I AN ¥ 17 3@ we w1 faveww
HIT | 3
“Possibilities can be created within the limit, which do not damage the
environment and there is no free run without accidents.” Analyse the
statement.

9. YA H WS TH1YAT o H&0T ki fepral o9 faferi Y samean i | 3x1=3

Explain any three methods of conservation of mineral resources in India.

10. & qAT A h WG 4 WRA | Tresd T Sfeaat o o | ohelt e
f3urg 2 2 Igren wfed T il | 3

How have security and scarcity of water played a role in the development
of clustered rural settlements in India ? Explain with examples.

11. = fiu MU sTR@ 1 dEgigas 1eE Hive 3R 39 1= fdu U w4 i
I AR - 3x1=3

s 3T AT
& v

Yy MR-
\ miﬁém
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(11.1) IW ARG H Yef¥id AgT 3 s0q1d G937 hl G hifeT 31 s4en
am fafeu | B ees e g A feoa § 2

(11.2) 38 TIF I HH-H QAT Tl UTd AT 7 2
(11.3) 38 &3 & oI foggq o1 g | H-a1 3 2

Study the diagram given below carefully and answer the questions that

follow :
Steel Plant To Bokaro
s
T v Steel Plant
C; @ Limestone
Hirakud Dam Y7 Iron-ore
\ ma—sa— Railway
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(11.1) Identify and name the iron and steel plant shown in the above '

diagram. In which State is this plant located ?
(11.2) Which two rivers provide water to this plant ?

(11.3) Which is the main source of electricity for this plant ?

Fie:  FHECTET J97 A gieanaa ghemtdel & og, yv7 gear 11 & €&
WE:

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 11 :

Toems sEura 9 o fod & fou Saterl fopedl v Jg@ siehi i =T
I | 3x1=3
Explain any three major factors responsible for the development of
‘Bhilai Steel Plant’.

12. = fu 7 sm@i 1 SragtigEs stemE T 3R Ik A9 o T aet &
1+2=3

(A) (B)

(12.1) IR feu 7u sl # urHivr st gfaedi (A) 3R (B) sl 989 il
3 396 9 fefigu |

(12.2) Tcdeh UTHIT SET o Gfaey shl Teh-Ush fomiydr fafigu |
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Study the diagrams given below carefully and answer the questions'that
follow :

(A) (B)

(12.1) Identify and name the rural settlement patterns in the above

given diagrams shown as (A) and (B).

(12.2) Write one feature of each rural settlement pattern.

Fie :  FHEICTRIT F97 FIT FIEATAT Ghgnieal & o8, 97 &7 12 & T W& :

Note : The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 12 :

foerrasfta <ot o smfior afeaani 1 fopedl oM @ SHESTl &l ¥95¢ I | 3x1=3
Explain any three major problems of rural settlements in the developing
countries.

13. ‘TR mufyre Fyem aRa & ARy < U R wme B 17 39 o &
%A L H FETIH fohral diF Hodl shl ST HIT | 3x1=3

“Urban waste disposal is a serious problem in ‘Metropolitian cities’ of
India.” Explain any three values that can help in minimising this
problem.

14. fafwio @ «=n Afimm 7 2 sngfie s 99M @ 8 arer fafmior &6 foeegi e
forRwareti w1 auiA i | 1+4=5

What is meant by manufacturing ? Describe any four characteristics of
modern large scale manufacturing.
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“Ora T STt HETeET ST EEET R e Afard ® |7 dhi |fed 36 HeH W
TG 38T | 5
“Conservation and management of water resources is essential in India.”

Justify the statement with arguments.

Yag U 1 ANMIT B 2 IIE o TSR IR GHieReiiy qiundt hl s
HIFTT | 1+4=5

What is meant by migration ? Explain the social and environmental

consequences of migration.

TR | 3YhY hieh v TR Tded TAM il TaTH o U Afeeh 3Th{Sd sHTd
2 2 Tohegl Ut 3T9hY HHehi <hl ISTELUN HiZd AT hifoT | 5x1=5

How do pull factors make the place of destination seem more attractive
for migration in the world ? Explain any five pull factors with examples.

T < faferm w1 ufeufa i sTaear o smEs i Thid o YR W &1
§ offehd HINT | o g ¥ fpe yer fim 8 2 o wfed v
HIT | 1+4=5

Classify mining methods on the basis of mode of occurrence and the

nature of the ore, into two categories. How are they different from each
other ? Explain with examples.

ARG o TSI IR % Fgeid IEY 6l 3TN dfgd SRS HIfT | 5x1=5

Explain with examples the changing nature of the international trade of
India.

faga uftaga i yg@ faurd fre TR Th-ge i 0o & ? 3STEU digd T
HIT | 5x1=5

How are the principal modes of world transportation complementary to
one another ? Explain with examples.
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21. HER % feu U goHifds @At |, femm e are Wit |8 A, B, G,
D 3R E bl 989 hIfNT 3 39 Hat 9 Fafafigd SHerl 6l 7 ¥ 36

| G g W@l W faRan 5x1=5
A TRREH &EEd W gfte § T 98l o

B. [Halgd @usw 1 U YqE &

C. ‘“IR-gEdR emnt @ fad weE

D. Y@ HHgI-9TH

E. SIS arg-9ad

Identify the five geographical features shown on the given political
outline map of the World as A, B, C, D and E and write their correct
names on the lines marked near them with the help of the following
information :

A. A country with large area in Asia
A major area of subsistence gathering
The terminal station of a ‘Trans-Continental Railway’

A major seaport

"# o o w

An international airport

g :  Hkiiad 3eT #aq g ghgniaal & o, ye7 @ 21 & €9
wE:

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) TRET # &%a i gfte T HH-A1 ¢ T8 F1 3 ?

(21.2) TER & fohelt Tk yg@ fafe qugw & w1 9m fofau |

(21.3) UR-hAfeaA (@ o afeadl R’ & I %1 W fafaw |

(21.4) 3ThIhT o Torelt T T TYL-aeH 1 W fafEm |

(21.5) SATEfeTa o fopelt Teh STmaRISE ITY-Ux o1 A1 fARaT | 5x1=5
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(21.1) Which is the largest country of Asia in area ?

(21.2) Name any one major area of subsistence gathering in the world.
(21.3) Name the western terminal station of Trans-Canadian Railway.
(21.4) Name any one major seaport of Africa.

(21.5) Name any one international airport of Australia.

aa & fou U aerifas Yeamts @ freafafaa ofe @ w swrs e a
TS SR 3ok W fafaw - 5x1=5

(22.1) ¥Ha fIeprd g § = T arel T
(22.2) IS T IV IcATEH TS

(22.3) e § feuq Aftea=R Fralfieh! Uk
(22.4) dfueATg ¥ oo e 61 @ @H
(22.5) 3TEH H fedq STaisda ag-ueH

Locate and label the following five features with appropriate symbols on

the given political outline map of India :

(22.1) The state having the highest rank in Human Development Index
(22.2) The leading producer state of groundnut

(22.3) The software technology park located in Odisha

(22.4) The major coal field located in Tamil Nadu

(22.5) An international airport located in Assam
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Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 22 :

(22.1) WRA 1 HH-81 TT A foohE @i § Fai= T9H el 8 ?

(22.2) WA I HH-AT TsT HTHeAT T S ITITEH 8 ?

(22.3) ofifesn # feuq Aired=R Wreifiehl areh w1 A fafEm |

(22.4) dqfEETg # fooa St il yg@ @F @1 W fafEu |

(22.5) TEH H fedq SIS ag-ueH &1 9 fafE | 5x1=5

(22.1) Which state of India has the highest rank in Human
Development Index ?

(22.2) Which state of India is the leading producer of groundnut ?
(22.3) Name the software technology park located in Odisha.
(22.4) Name the major coal field located in Tamil Nadu.

(22.5) Name an international airport located in Assam.
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I |, 22 & forw For question no. zz -
WA T {T-AHRE (TS TR )
Outline Map of India (Political)
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